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A) sinx?
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If f:R>R,f(x):
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A) =xX*+2x*+C ) Zx3‘+lx2+c
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") —x*+2x*+C Zx? o3
) 3 3) > +2x +C

I
The anti derivative of [\/; + 7—;] with respect to x -

1 4 1 22 ]

— i D :+c e Al K
RYESSH L B) ¥ +5x+C
253 L 80 1 4
—Xx*+2x*+C =%+ —x
L) 3 X D) S% % +C

jcoszxdquﬁﬁ—
bo 1 Al U,
H) —+Zsm2x+C |q9) x +Zsm2x+C
) E+—1—s.inx+C ) el
4 < 7+-2—31n x+C
The value of Icoszxdx is -
A) X L in i B) L 2
—chro —si
20y TRk
x AN gt 1
—+— +C — +—sin?
C) y 25mx D) 2+2sm @
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Vi) TRy =Xy = 49 R g @ - N
33 8
) — S
2 ) 3
32 4
R) = il
) 3 q) 3
The area of the region bounded by the curve y =x2 and the line y =4 is -
R 8
A) 5 B) 3
o 32 4
i D) 7
vil) 7(jxk)+j-(xk)+k-(x]) MAAR - [1]
A) O ) -1
|q) 1 s 3
The value of [ - (jxk)+ j-( xk)+k-(ix j) is -
A) 0 B) -1
)i D) 3
viii) a3 3t efei G wen 5 ot V3 28k a-b=V6 A, Mawmb %
faw R - 1]
-4 a) £
#) 5 3
7T ) ki
W e Yal
If the magnitude of two vectors a and b are /3 and 2 respectively and \I

I SS—-15-Mathematics

i -b =+/6, then the angle between @ and b is -

P /3
/ =" B) a
A) 5 3 !
4l i
C) % D) 3
3036 [ Turn Over
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2) fieh vl 6 ofd ife
Fill in the blanks :

) uﬁxm+y[‘ll]=ma,mx+y)= .............. e 1]
a2 [-1]L[10 i
x3 +y 1 ITls , then (x + y) = !
if) cos(ﬁ)mx%m&aw ............. 2l (1]

The derivative of cos(\/;) with respect to x is

i) &Ry =3x*— 4x &% x = 4 U T T N TGRS A ..ovveernnennees g (1]

The slope of the tangent line at x = 4 to the curve y = 3x* — 4x will be :

iv) sz(1 —i?_]dx W T e gl 2l 1]
x

The value of [’ [1 —iz)dxwill be
X
v) aR et A, B, C oft D % fwim s (1,2, 3), (4, 5, 7), (—4, 3,-6) 3l (2, 9, 2)
2, @ AB 3R CD T@naii & ==t &1 =1 &l .............. grml [1]

If the coordinates of the points A, B, C and D are then (1, 2, 3), (4, 5, 7),
(-4, 3, —6) and (2, 9, 2) respectively, the acute angle between the lines AB
and CD will be :

vi) af2 g freag ol 1 Tk g 6 Uk SR IOTA S ¢, @ 3 UrE SR a5 g
TTRIHAT T A .oevvrnennens ghm| (1}

If a pair of two unbiased dice is thrown once, then the probability that the
sum of the numbers on both the dice is 5 will be

SS—15-Mathematics 3036




T

Find the principal valuc
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Find the values of x and y from
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vil) Tamgall P74 2§ — k) R Q( + ] + k) T Forem el T R 2 : 1 & o d avm:
i w0 o=t fag R =1 Rafa wftw 1w iRt (1]

Find the position vector of a point R which internally divides the line joining§ -
two points P and Q whose position vectors are (f +2 } = 12) and (—f +} ‘!-'i:)
respectively in the ratio 2 : 1.

viil) Bl {27+ 34 3 37 -2+ % e o o 7@ A (1]
Find the angle between the vectors ; — 2}‘ +3k and 3i — 2]+ k.

ix) @vigu f famgadi (1, -1, 2) oiR (3, 4, —2) | @ W1 At v, fawgsd (0, 3, 2)
(3,5, 6) & 91 arel T@ W &4 2l

]

Show that the line through the points (1, -1, 2) and (3, 4, —2) is perpendicular
to the line through the points (0, 3, 2) and (3, 5, 6).

X) U @l 1 FHEE THHT x:5=y;'4=z;6 2| T widw Tt 7 <
=)

x=5 y+4 z-6
.y < 2

xi) aA2x+y—z=35 zmﬁésﬁaaﬂmﬁﬁmmﬁﬁﬁmﬁﬁ'!l [1

Find the intercepts cut off by the plane 2x + y —z =5 on co-ordinate axes.

. Write its vector form.

The cartesian equation of a line is

xii) U% FAfeEa (unbiased) UTE 3 AR IVTA TN TH A A ¥ TEA ISTH W
H7em U 7T 3 B ue e e W faum ' ww g quia ?1 wenei A
& @A % gl fif| e

An unbiased die is thrown twice. Let the event A be 'odd number on the first thr
and B the event 'odd number on the second throw'. Check the independence

of the events A and B.

I -nY& I .'Jﬁ ". A 4
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A by visvig Kb

—Ccosa sina

sin@ cosa
If A= : . the
—cosa sina

Prove that 52 Yo

' 1— A
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7)  aize i farg A
Show that the poin
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X +3,aR x#0

1 oA x = () O Had & &l (2]

8) fag fife it wem f(x):{

x®+3,if x#0

Prove that the function fgiven by f(x)= { 1 ed 7 is not continuous atx=0.§
, if x=
9) iae Fa it R f(x) =2 — 4x + 6 | Ve Tew £ (2]
i) ot
i) e 2|

Find the intervals in which the function fgiven by f(x) =x*—4x + 6 is
1) Increasing

i) Decreasing

10) x et Yo aret o B g 8 2% <Rl gfg o R0 A ¥4 % e W WiNehe IREaH [ hife)
(2]

Find the approximate change in the volume of a cube of side x meters caused by
increasing the side by 2%.

I S!&?C2 X

Jtan® x+ 4

11) dx &1 WA T it

2
S€C X

Evaluate J‘mdx -

12) wawd )2 = 4ax 3R I6® S | UREg & 1 EAE T Hifor| i
Find the area of the region bounded by the parabola y* = 4ax and its latus rect

$S-15-Mathematics 3036 | e
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13) -3 1 ¥et fiig el e A e g o o e T S 2
he y-axis at origin

Form the differential equation of the family of circles touching t

14) TREeale G =27 - j+2k b =i+ j—f whmaRs a+b %3
T i)

For given vectors, G =2i — j+2k and  =—f +—Fk, find the un

direction of the vector G +b.

15) wwaet, e wfew vl 7.(27 +27 - 34) =5 3R 7 .37 = 3] +si‘?};=:__'
F01 s ) |

Find the angle between the planes whose vector equations are F(2z
and 7.(3i 3] +5k)=3.

16) afe vk = e =t 10 =R IoTen @, @t Stk o:fa o &t i

If a fair coin is tossed 10 times, find the probability of exactly six he
ek

Qus - |
SECTION - C

xw‘ﬂﬁ

i3 v-#i*‘
17) ﬂﬁsin(sin"l+cos"lx) 1 ?ﬁxmmﬂmaﬁtﬁﬂ} éf
g r { @ “&'t 4 i

"‘MJ"J

If sm[sxn -;~+ cos” x] =1, then ﬁnd the value of x:%

WIOR S mﬂ

8 ooi B ina o cniatalusiial
guitze fa sin” i'sm T ’85 “‘7’"”"{’#'_‘““‘&7;:e-: |

ks R iﬂms*i}ﬁ_
Show that sin = =8Il =& 85 .
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18) x % \maer (log x)s* &t e HifT|
Differentiate (log x)®s* with respect to x.
Figar/OR

d2

g y = 500e™ + 600e 72, 7t gvtze -—f =49y

dx

d2
Ify = 500¢™ + 600, show that = =49y.

19) | : dx 1 v 7w vy
J(x—D(x-2)

1
Evaluate '[\/(x “1)(x-2) dx‘

Fgar/OR
x* +1
I2—~—dx 1 °4E 7 Fifu)
x“=5x+6
x*+1

Evaluate J.m

[3]

[3]

3]

131

20) ewize & wRew 2f — 4k, -3] -5k 3R 37 —4j—4k T wEwm Bugw & v H
3]

Show that the vectors 2i — j + ki 3j - 5k and 3 - 4] — 4k form the vertices of

@A F 2

aright angled triangle.
Frar/OR

veh g @ e T e, R i A (1, 1, 1), B(1, 2, 3) iR C(2,3, ¥ 3]
Find the area of a triangle having the points A (1, 1, 1), B(1,2,3) and C(2, 3, 1) as

its vertices.

|
|

P |
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@ -1
SECTION - D
21) J::ifﬁdx 1 HH T Fifu) (4]
Evaluate J._IISx4 x* +1 dx.
ar/OR
J‘isiﬂ2 X dx 1AW Fd HifeTe| [4]

4

Evaluate Fﬂ sin’ x dx .

22) foreht & & gt il gfg 5% e 9 X 8 7l 31 s a6 ° Rs. 1,000 ST A W 2| 7t
Hifse §i 10 a4 =g g uivn fwert 8 st (e%° = 1.648). 4]
In a bank, principal increases continuously at the rate of 5% per year. An amount
of Rs. 1,000 is deposited with this bank. How much will it worth after 10 years

(&5 = 1.648).
Fue/OR

Wmﬁwmydx—(x+2ﬁ)dy=0mamgamzﬁlﬁiﬂl [4]
Find the general solution of the differential equation y dx — (x + 2)?) dy = 0.

23) Erfrfian =Tl & st Z = Sx + 3y @ e faft & sftenarien i (4]
3x +5y<15, 5x+ 2y <10, x>20,y20
Maximize Z = 5x + 3y subject to constraints 3x + Sy < 15, S5x+2y<10, x=>0,y=>0

by using graphical method.
star/OR

et saaii % Frtd Z = 200x + 500y &1 sncwea ffty & e aifvw (4]

x+ 2y > 10, 3x+4y<24, x>0,y>0.
Minimize Z = 200x+ 500y subject to constraints x + 2y = 10, 3x+4y<24, x>0,y>0by

using graphical method.

VOOV



